k (k, =4)
2 o o
Re |Ov 1 1A=y \ﬁb v (v=03)
o, 7\ Kk, Et ‘-
b:
1.0[e <0.2]
Pa _11-0.412 (e -0.2)p.2 <a < 2]
O-Y
1
?[ﬁ<a]
o 2 /% py o,
o= 7)/:7 % - |:
Oy 7 A Eb b:
A,:
A
web
1.0[R < 0.5]
-1 e~ 10.080 (R - 0.5)°—0.480 (R —0.5)+1.0[0.5 < R <1.0]
O
-1 p oy * |0.470R?*-1.340R +1.650 [1.0 < R <1.3]
flange o, |LO[R<1.0]
o, yRZ 1.0 <R]
o, 1 [121-v?)|o, b
1.02<0.2] R= |-y == 2227V ) |y b
o Cy T k, E t
— =21-0.545(1-0.2)0.2< A <1]
Oy 1 k, : ( 0425 web : 23.9)
—1l<a .
A2 +o.773[ J v (v = 0.3)

Pf
1.0[R <0.5]
T _10.390 (R - 0.5)* - 0.911(R - 0.5)+1[0.5 < R <1.0]
Y |_0.146 R + 0.015 /(R - 0.8) + 0.713 l.0<R<21]
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- tf
< o

SM400

tw FAN
BIR 172 ‘ 172
y
(mm)| (mm)| (mm)|P(kN) (KN/mm?)
300 | 8 |2800| 70 234
0.001 0.2 0.1
-2
tf(mm)|b(mm)[tw(mm)h(mm)|I(mm)P(KN){(kN/mm?)
15 | 150 6 450 4500| 70 234
0.001 0.2 0.1
-3 d -4t
d(mm) t(mm)
280 [1.93E-03 100.000  0.00 | 9 |[2.11E-05 100.00 0.00
300 [3.18E-04  53.86 46.14{ | 8 |[3.18E-04  53.86  46.14
320 [7.21E-05)  0.20 99.80 | 7 |1.15E-02 0.01]  99.99
340 [3.41E-05  0.00| 100.00 | 6 [2.30E-01 0.00, 100.00
-5 |
I(mm)
2800 (3.18E-04 53.86) 46.14
2900 [3.94E-04 82.57| 17.43
3000 (4.90E-04 97.51] 2.49
3100 [6.07E-04 99.95 0.06

6 t, 71,
tw
(mm) web |flange | |(mm) web (flange
5 |9.78E-05100.00f 0.00, 0.00, | 15 | 6.37E-05| 100.00/0.00, 0.00
4 | 1.49E-04100.00f 0.00 0.00{ | 10 |5.13E-02]100.00/0.00, 0.00
3 |8.89E-01] 11.15 88.85 0.00 8 | 2.83E-01]100.00{0.00, 0.00
7 | 4.99E-01] 100.00{0.00| 0.00
6 |7.28E-01] 83.03/0.00| 16.97
- d
- I
|
-6 -7
t
1)
2)
3)
4)



